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8a. Titus is trying to find pairs of fractions
which multiply together to make the
answer below.

_nd
X7 =275

He finds 3 pairs so far. What could his
pairs be?
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7a. Look at the calculation below.

Is it comrect? Explain how you know.
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9a. Hugh is thinking about multiplying
fractions.

If the simplified answer to a
fraction multiplication is

1
177 one of the fractions
which was multiplied could

Hugh

have been >

Is he cormrect? Explain how you know.
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7. Circle the correct answer fo the calculation below.

11 3
2 x 15 =

88 1 14
55 30
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8. Match the calculations fo the correct answers.
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9. Choose the comrect number cards fo complete the calculation below. Each number
card can only be used once.
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